
Km 0+625
282,45

N = 1,00m
W = 0,50m
MK= 0,89m

2

2

2

282,12

Km 0+650
282,44

N = 1,05m
W = 0,50m
MK= 0,80m

2

2

2

282,14

Km 0+675
282,36

N = 0,60m
W = 0,80m
MK= 0,66m

2

2

2

282,10

Km 0+800
279,90

N = 1,60m
W = 0,00m
MK= 1,05m

2

2

2

279,58

Km 0+825
278,04

N = 4,60m
W = 0,30m
MK= 1,36m

2

2

2

277,68

Km 0+850
277,08

N = 3,50m
W = 0,00m
MK= 1,35m

2

2

2

276,65

Km 0+875
276,94

N = 2,40m
W = 0,20m
MK= 0,94m

2

2

2

276,62

Km 0+900
277,36

N = 1,70m
W = 1,10m
MK= 0,66m

2

2

2

277,05

Km 0+450
279,63

N = 0,30m
W = 2,70m
MK= 0,66m

2

2

2

279,33

Km 0+475
280,22

N = 0,90m
W = 0,25m
MK= 0,85m

2

2

2

279,88

Km 0+500
280,80

N = 0,50m
W = 1,70m
MK= 0,85m

2

2

2

280,50

Km 0+525

281,36

N = 1,00m
W = 1,20m
MK= 0,51m

2

2

2

281,23

Km 0+550
281,80

N = 1,70m
W = 0,60m
MK= 0,54m

2

2

2

281,63

Km 0+575
282,03

N = 1,10m
W = 0,00m
MK= 0,24m

2

2

2

281,83

Km 0+600
282,34

N = 0,40m
W = 1,35m
MK= 0,57m

2

2

2

282,08

Km 0+700
282,44

N = 3,80m
W = 0,00m
MK= 0,97m

2

2

2

282,11

Km 0+725
282,51

N = 1,40m
W = 0,30m
MK= 1,11m

2

2

2

282,15

Km 0+750
282,50

N = 1,20m
W = 0,50m
MK= 1,30m

2

2

2

282,10

Km 0+775
281,72

N = 1,00m
W = 0,70m
MK= 0,00m

2

2

2

281,51

5,58

2,6%

5,56

2,5%


